Assorted Box No: AT23

Customer: Beal (UK) Ltd.

Content: 200

SetScrews UNF BZP

PART No. SET44

SetScrew 3/8 x 1 ¥

Quantity: 5

PART No. SET34

PART No. SET43

SetScrew ¥ax 1 %

SetScrew 3/8 x 1

Quantity: 30

Quantity: 9

PART No. SET39

X
—
=
©
=t
~
re)
=
)
S
(&)
n
-
@
n

Quantity: 30

PART No. SET33

SetScrew ¥ax 1

Quantity: 50

PART No. SET32

PART No. SET37

SetScrew Y4 X ¥

SetScrew 5/16 x 1

Quantity: 21

Quantity: 30

PART No. SET30

SetScrew 3/16 x 1

Quantity: 25

Front Label

Box Colour: CLEAR




